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PAPER 2 - FOUNDATION TIER

2015 Summer Linear Paper 2 (Calculator allowed)

Foundation Tier Narks Canmaenis
1. Parts (a) & (b) marked at the same time
(a) (3.56)  (milk) v
14.82  (apple juice) BI1
8.35  (biscuits) Bl
1347  (tea) BI
40.2(0) Bl F.T. until second error
Award B1 for a correct total (F.T.)even if only seen in (b)
(b)y 10%= (£)4.02 M1 Any correct method for finding 5%.
5% = (£)2.01 OR (0).05 x 40.2(0) F.T. their total. Ignore extra decimal places in their answer,
Discount is (£) 2.01 (1.S.W.) Al Allow 2.01% for Al, but 2.01p gets M1,A0.
If (£)38.19 given then award M1, A1 for implied (£) 2.01.
10%=(£)4, 5% = (£)2 gets M0,A0 not of equivalent diff,
v
2. Width of pitch 50km @ 50mm  50cm Bl
Weight (man) 70g 70mg  7kg BI
Volume (cup) 1 litre 25 cm® I ml Bl
Area of page  3m’ 30mm* 300cm’ Bl
3. All parts (a) to (c) marked together Look at the diagram also in (a) to (c)
(a) Water mark at 320 ml Bl Water level shown at ONE GRADUATION ABOVE 300
Closer to 320 than 300 OR 340
3. (b) Water level =480 B1
Water in a jug = 480/6 M1 FT ‘their 480°
=80 (ml) L.S.W. Al
3.(c) 480 + 360 = 840 Bl For ‘their 480 from part (b)' + 360
Water marked at 840 B1 Water level shown at ONE GRADUATION ABOVE 800.
F.T. 'their 840", if not a multiple of 200.
Closer to 840 than 800 OR 880
4. (a) (Viewed with diagram)
Evidence of square counting MI1
49 — 54 inclusive Al
196 — 216 _inclusive (cm?) Bl F.T. ‘their 49 — 54" x 4

Unsupported answer in the range 196-216_gets 3 marks. |

4. (b) Lines Bl | For both lines.

Arc Bl F.T. their lines, must have opposite curvature, start at the
correct place and end at the start of their line.

5. (a) tangent B1 Accept misspellings as long as recognisable

radius Bl Accept misspellings as long as recognisable

5. (b) (i) 9.5 (cm)to 9.9 (cm) inclusive Bl

5. (b) (ii) Parallel through C B1 Watch out for perpendicular(r(s) as well as a parallel line
which could be their way of 'constructing the parallel line'

6. (a) 10 @ e 8 3 B2 B1 for any 2 correct and up to 1 incorrect

’ 15 10 OR B1 for all 3 correct and 1 incorrect.

6. (b) 13 (crates) Ml For 13 or 13.8(88...) OR 1000/72 OR 936 OR repeated
subtraction 13 or 14 times. 13x72=936, 64 gets M1,A1

13 (crates) with 64 (apples left over.) Al M1,A0 for 14 crates and 64 apples.
14 (crates) OR 64 (apples) on its own get M0,A0

6. (c) (0).07 Bl Do NOT accept 7/100

6.(d) A8 x 82.5 OR (0).48 x 82.5 M1 Any correct method for finding 48%

100

=39.6 (I.S.W.) Al A0 for 39.6%, but allow A1 for £39.6(0)

6.(e) 3x12 OR 252+7 M1 Any correct method which should get 36

36 Al C.A.O. Mark final answer. 36/84 gets M1, A0.

Premature approximation methods such as
3/7=(0).42 OR (0).43, then 35.28 or 36.12 gets M1,A0
Unsupported answers other than 36 get M0,AQ

© WIEC CBAC Ltd
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2015 Summer Linear Paper 2 (Calculator allowed)

Foundation Tier ATk fGomments
Overlay Rectangles must have at least one side in common
7. At least one 6 by 3 rectangle Bl Notes: Wrong dimensions gets B0; allow £2mm
At least two 6 by 4 rectangles Bl Ignore 'flaps'.
At least two 4 by 3 rectangles B1
Makes a valid net B1 Must be a correct net that would produce a cuboid.
Allow this Bl even if only 5 sides (open box)
8. (a) (i) Subtract 5 (from the previous term) Bl Accept -5, take away 5. B0 for n—5 or —5a+51
8. (a) (ii) Multiply (the previous term) by —4 Bl Accept x—4. B0 for nx—~4
B1 for (1) multiply by 4 and change sign
OR (2) times the previous term by 4 using a positive then
minus number pattern
OR (3) BI for times by 4 each time but every other number
is negative
BO for 'times 4 add a minus then times 4 take away the
minus'
8. (b) (i) 105 B1 Accept & x 10 or 510. Ignore b= or =b or any other letter
B0 for b buttons x10 shirts. 10b=b = 10 gets B0.
8. (b) (ii) &5 Bl Allow k+5. BO for & blocks / 5 rows
Ignore k= or =k or any other letter
9. (a) 4 (°C) B1 Accept -4 (°C)
9.(b) 97 (°C) Bl Accept 97 (°C)
9.(c) 2(°C) Bl
10. Week hire = 32.20
4 day hire =16.10 + 3 x 8.15 M1
= (£)40.55 Al
Difference = 40.55 -~ 32.20 Ml FT ‘their derived 40.55
= (£) 8.35 Al
Look for QWC
e spelling 2

clarity of text explanations,
the use of notation (watch for the use of =, £
being appropriate)

QWC?2: Candidates will be expected to

AND

present work clearly, with words explaining
process or steps

make few if any mistakes in mathematical
form, spelling, punctuation and grammar and
include units in their final answer

QWCI: Candidates will be expected to

OR

present work clearly, with words explaining
process or steps

make few if’any mistakes in mathematical
form, spelling, punctuation and grammar and
include units in their final answer

QWC2 Presents relevant material in a coherent and logical
manner, using acceptable mathematical form, and with few
if any errors in spelling, punctuation and grammar.

QWCI1 Presents relevant material in a coherent and logical
manner but with some errors in use of mathematical form,
spelling, punctuation or grammar .

OR

Evident weaknesses in organisation of material but using
acceptable mathematical form, with few if any errors in
spelling, punctuation and grammar,

QWCO0 Evident weaknesses in organisation of
material, and errors in use of mathematical form,
spelling, punctuation and grammar.
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Foundation Tier Marks Comments
All parts (a) to (d) marked together
11. (a) 15 24 28 31 32 39 47 60 M1 For identifying the correct TWO middle numbers OR for
arranging the 8 numbers in ascending or descending order.
Median = 31.5 (years) Al C.A.O.
Unsupported 31.5 gets M1, Al.
(b) 45 (years) B1 BO for 60 ~ 15 only
(c) Sum of'the amounts (276) MI1 For attempt to add all the numbers
Sunm/8 Ml For dividing a number in the range 216 — 336 by 8.
34.5 (years) Al C.A0O.
(d) Because 31 is less than 34.5 the mean will decrease E2 Consider their reason then consider their conclusion.
OR because the new member is younger than the mean F.T. their mean in part (¢) if M1 was awarded
age the mean will decrease. El for a valid reason or calculating the new mean as 307/9 =
34.1, without a conclusion in their table or in their
explanation
EQ for 'because you are dividing by a larger number (9)'
12.(a) 950 < 2,12 M1
=2014 (BND) Al BND not needed. Do not penalise $ but A0 for £ or euros
12.(b) 180/2.12 M1
= (£)84.9(0) OR (£)84.91 Al Accept (£)85(.00)
Accept unrounded correct answers 84.90(566)
£ not needed but AQ for BND OR $ OR euros.
13. e
Carpet Tiles
(Area of a tile = 0.5x0.5=) 0.25(m"°) OR(10x4)=40(m*) Bl OR (10+0.5 =) 20 AND (4:0.5=) 8
OR (50x50(cm’) =) 2500 OR (1000x400=) 400000(cm’)
(Number of tiles = 40 + 0.25 =)160 OR (0.25%32)=8 Bl F.T. 40 = 'their 0.25 OR ‘their 20'<'their §'
{Number of boxes = 160/32 =) 5 OR (40:8=)5 Bl F.T. 'their 160'/32
(Cost=35x £40=) (£)200 Bl F.T. 'their 5'<(£) 40, provided number of boxes is a whole
number £ 1 OR 32,
Wood Strips
(No of strips inthe 10 by 4 = 40 x2=) 80 Bl OR (40+(2x0.25) =40+0.5=) 80 (OR 5x16=) 80
(Number of packs = 80/8 =) 10 (packs) Bl F.T. 'their 80"/8
(Cost =10 = (£)22 =) (£)220 Bl F.T. 'their 10" x (£)22, provided number of packs is a
whole number £ 1 OR 8.
Carpet tiles cheaper (by £20) El Conclusion on their figures if at least B1 awarded for 'carpet
tiles' AND for 'wood strips'.
14.(a) 30 —~ x = 44+2 or 60 —2x =44 Bl FT until 2™ error
30—x=220r -2x=44 - 60 or 60 -44 = 2x or —x=-8 Bl FT equivalent level of difficulty
or 16 =2x
x=8 Bl

Accept an embedded answer for B3

Note:

Writing 2x = -16 or -2x = 16 leading to x = -8 is generally
Jrom 1 error.

Sight of 2x = 44 — 60 is regarded as | error

60 —x = 44 leading to x = 16 is awarded B0, Bl, B0 (as
level of difficulty is eased)

14. (b) 8a~ l4c

B2

B1 for any TWO correct terms from 12a —6¢ — 4a - 8¢
OR BI for 8a OR B1 for —14¢

14.(c) 2, 3,4, 5

B3

Bl for the 2, BI1 for the 5 AND NO 6 or above, B1 for the 3
and 4 AND NO incorrect numbers, but allow 6 here.

SC1 for 5/3 < n <6 (not 18/3)

15.(a) Reason to include, without contradiction. .. .. ..
¢  FreeFlight: fewest complaints
e  Best2Fly: fewest lost suitcases
e Golet: best arrival on time record

B2

B1 for any 2 correct responses

Allow, if respectively, ‘complaints’, ‘suitcases’ or ‘arrival
time’ is mentioned uniquely or if mentioned as the positive
Jeature.
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; ] Marks Comments
Foundation Tier
15.(b) 30000 —0.88x30000 OR 0.12x30000 M1 Accept (1 —0.88) x 30000
3600 (flights late) Al
If the incorrect airline is selected, award SCI for either
Freeflight or 0.15 x 30000 = 4500 (flights late), or
GoJdet  or 0.08 x 30000 = 2400 (flights late)
Do not accept these as unlabelled unsupported answers;
need sight of workings or the airline name as sufficient
identification
15.(c) Use of 0.36 and 0.42 (per 1000 compared) Bl Use of (0.)36 and (0.)42 in any calculation(s), or sight of
0.06 OR 6%,
500x(0.42 - 0.36) OR 500x0.06 OR MI Ignore consistent place value errors for *500 thousand
500 x 0.42 — 500 x 0.36 or equivalent passengers’, e.g. 21(00) — 18(00)
30 (suitcases) Al C.AQ. LS.W.
If ro marks and no working allow SCI for an answer of 3 or
300 or 3000 or 30000
GalJet and FreeFlight are mentioned twice in the question,
hence no MR or SC marks awarded for use of the incorrect
airlines
15.(d) 8(%) B1 Do not accept 8/100 or 0.08.
LS.W. conversion to fractions or decimals.
The answer must be a percentage
16. SCROLL DOWN FOR SECOND PAGE Check the diagram for any answers
(Length common side BD is) 3900 + 75 M1
(BD =) 52 (ecm) Al
(Area of triangle BDC =) %4 x 25 x BD M1 FT ‘their BD?, including BD as 25(cm) or spurious BD
(=) 650 (cm®) Al FT ‘their BD’ provided both previous M marks awarded
(BC* =) 257 + BD? Ml FT *their BD’, including BD as 25(cm) or spurious BD
(BC =)3329 or BC?=3329 Al FT ‘their BD’ provided #25(cm) and it is not a spurious BD
(BC =) 57.697...(cm) rounded or truncated Al CAO. Do not accept 60 (cm) unless 57(.697...) seen
Alternative for the first 4 marks:
Base of triangle = ¥ x base rectangle B
Area of the triangle = 15 x 15 %3900 Mi
=650 (em’) A2
Alternative for the final 3 marks:
Complete method, all stages required to find BC Ml
Intermediate stages answer correct Al
Final answer correct Al
17.(a) Explanation, e.g. ‘this information was not El Do not accept, e.g. ‘because some boxes only had 7
recorded’, ‘don’t know how many peaches are in the peaches’, ‘because they should contain exactly 8 peaches
other boxes’, ‘don’t know if boxes have fewer than 8 (not at least 8)’ (given in the question), ‘because 2/5 of the
peaches’, ‘doesn’t show more or less than 8’, ‘could be boxes are under 8’
fewer than 8 peaches’, ‘not all boxes may (or will)
have 8 peaches’
17.(b)(0)
(8) (18) (25) (32) (41) B2 Must be to appropriate 2dp, although allow 0.9 and 0.8 for
(10) (20) (30) 40 50 0.90 and 0.80 respectively
(0.80) 0.9(0) 0.83 0.8(0) 0.82 B1 for any 4 or 5 correct entries
17.(b)(ii) Uniform scale on the vertical axis, suitable M1 Allow not starting at 0, but must be uniform from their first
for values of relative frequency marked value.
Do not accept inappropriate scales, the maximum value on
the top of the vertical scale must not exceed 2.5, unless
clearly working with percentage
Correct plots (allow joined or not joined) Al FT from (i) if possible provided all relative frequencies <1 ,
or shown as percentages and they are not all identical.
Tolerance of plotting is within the appropriate small square
Ignore any ‘line of best fil drawn’ or additional bars
17.(b)(iii) 0.82 or equivalent probability B1 FT from their final decimal in the table in (b)(i) and

provided it is <1
Do not accept 0.82% unless a correct equivalent to 0.82 is
also seen
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